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QUESTION 1

You are troubleshooting a WLAN problem and you suspect hidden node as the cause. What should you look for in a
protocol analyzer? 

A. Frames with the HN bit set to 1 

B. Frames with the retry bit set to 0 

C. Frames transmitted from the AP without acknowledgement 

D. Retransmitted frames from multiple STAs at higher rates than other STAs 

Correct Answer: D 

Reference 

http://setup-wireless.blogspot.com/2008/11/wireless-hidden-node.html 

 

QUESTION 2

As an RF wave propagates through space, the wave front experiences natural expansion that reduces its signal
strength in an area. What term describes the rate at which this expansion happens? 

A. Inverse square law 

B. Ohm\\'s law 

C. Fresnel zone thinning 

D. MU-MIMO 

Correct Answer: A 

 

QUESTION 3

During a post-implementation survey, you have detected a non-802.11 wireless device transmitting in the area used by
handheld 802.11g scanners. What is the most important factor in determining the impact of this non-802.11 device? 

A. Protocols utilized 

B. Channel occupied 

C. Receive sensitivity 

D. Airtime utilization 

Correct Answer: B 
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QUESTION 4

Which one of the following 802.11 PHYs is more likely to be used in an industrial deployment but not likely to be used in
standard office deployments? 

A. SIG 

B. VHT 

C. OFDM 

D. HT 

Correct Answer: B 

 

QUESTION 5

Three access points are used within a facility. One access point is on channel 11 and the other two are on channel 1.
The two access points using channel 1 are on either side of the access point using channel 11 and sufficiently apart so
that they do not interfere with each other when they transmit frames. Assuming no other APs are in the vicinity, is CCI
still a possibility in this network and why? 

A. Yes, because the client devices connected to one of the channel 1 APs will transmit frames that reach the other
channel 1 AP as well as clients connected to the other channel 1 AP. 

B. No, because the APs are far enough apart that no CCI will occur. 

C. No, because CCI only occurs in the 5 GHz frequency band. 

D. Yes, because channel 11 loops around and causes CCI with channel 1. 

Correct Answer: A 
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